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Kolkata Police Constable (Prelims) Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) xÄyvþy› !ßþ¿íöì„þ xy•%!˜„þ xíÅ˜#!“þîû ‹˜„þ îœy £ëûÐ
²Ì!“þöìëy!†“þy– ö‹y†y˜ ç ‰þy!£”y ~î‚ ›%_« îy‹yöìîû ×öì›îû
¢Á™öì„Åþ “þ¤yîû öœ…y çöìëûœí xšþ ö˜Ÿ˜ @ùÌöìsþi î!’Å“þ £öìëûöìŠéÐ

2. (b) xyœyvþz!j˜ …œ!‹ £z„þ“þy ²Ìíy îy!“þœ „þöìîû̃ Ð £z„þ“þy ²Ìíy
£zœ“%þê!›öì¢îû Ÿy¢˜„þyöìœ ²Ìî!“Åþ“þ ~„þ •îûöì̃ îû ²ÌŸy¢!˜„þ
îÄîßþiyÐ

3. (c) ¦þyîû“þ ç ‹yþ™y˜ ö„þyÞÝþ†yvÅþ öëïí¦þyöìî ö‰þ§¬y£z vþzþ™„)þöìœ
¢£öìëy† „þy£z!‹˜ ˜y›„þ ~„þ!Ýþ öëïí ›£vþüyîû xyöìëûy‹˜
„þîûœÐ

4. (c) vþz•› !¢‚ 1899 ¢yöìœîû 26 !vþöì¢Áºîû þ™yOyöìîîû ¢y‚îû&îû
ö‹œyëû ‹§Ã@ùÌ£’ „þöìîû̃ Ð vþz•› !¢‚ ö‹˜yöìîûœ çó vþyëûyîûöì„þ
=!œ „þöìîû £“þÄy „þöìîû̃ Ð

5. (d) ö£þ™yÝþy£z!Ýþ¢ ~„þ!Ýþ ¦þy£zîûy¢ ‡!Ýþ“þ öîûy†Ð ~!Ýþ ›)œ“þ !œ¦þyîûöì„þ
¢‚e«!›“þ „þöìîûÐ ¦þy£zîûy¢ ‡!Ýþ“þ öîûy†=!œ £œéôô S1V
‹œî¢hsþ S2V ¢!”Å S3V =!Ýþî¢hsþ S4V ~£zvþ¢ S5V övþD%‹µîû
S6V £zöìîyœy S7V £y›

6. (a) =‹îûyöìÝþîû !œ†˜y£zÝþ …!˜öì“þ þ™yçëûy ö†œ î,£ê xy„þyöìîûîû
òîy¢%!„þó ¢yöìþ™îû ‹#îyÙÂÐ

7. (d) “þy!›œ˜yvþYöì“þ ¦þyîûöì“þîû ¢îÅy!•„þ ¢‚…Ä„þ îûy›¢yîû ¢y£zÝþ
îûöìëûöìŠéÐ ö›yÝþ 16!Ýþ ›öì̃ y˜#“þ ¢y£zÝþ îûöìëûöìŠéÐ

8. (d) ›%„%þÝþ›!’þ™%îû î¤y• þ™!Øþ›îöìDîû î¤y„%þvþüy ö‹œyîû …y“þîûy ›£„%þ›yîû
›öì•Ä xî!ßþi“þÐ „þ‚¢yî“þ# ˜”#îû çþ™îû ›%„%þÝþ›!’þ™%îû î¤y•
xî!ßþi“þÐ ›%„%þÝþ›!’þ™%îû î¤y•!Ýþ ¦þyîûöì“þîû !m“þ#ëû î,£_› ›y!Ýþîû
î¤y•Ð

9. (b) ˜íÅéôé£zÞÝþ ö†›¢ 2024 ~îû “,þ“þ#ëû ¢‚ßþñîû’ ˜y†yœÄyuþþ îûyöì‹Ä
Öîû& £œÐ

10. (c) £#îûyœyœ ö‰þï•%!îûÐ

!î²Õî ¢Á™!„Åþ“þ !î²Õöìîîû ‹˜„þ
¢y”y ”%• vþzêþ™y”˜ ¦þy!†Å¢ „%þ!îûöìëû̃
˜#œ ›yŠé vþzêþ™y”˜ £#îûyœyœ ö‰þï•%!îû ç

xîû*þ™ „,þ¡Œy’
¢î%‹ !î²Õî …y”ÄŸ¢Ä ~› ~¢ ßþºy›#˜yí˜
!¢œ¦þyîû !vþ› vþzêþ™y”˜ £z!¨îûy †yõþ#

11. (a) ¢%îûyÝþ £#öìîû „þyÝþy ~î‚ þ™!œŸ „þîûyîû ‹˜Ä !î…Äy“þ ~î‚ ~!Ýþ
¦þyîûöì“þîû £#öìîûîû Ÿ£îû !£öì¢öìî þ™!îû!‰þ“þÐ

12. (d) þ²Ìí›îyöìîûîû ›öì“þy !›¢ £zvþz!˜¦þy¢Å ²Ì!“þöìëy!†“þyëû x‚Ÿ@ùÌ£’
„þîûœ ö¢ï!” xyîûîÐ

13. (a) ö›!œëûy¢ £yvþü xy›yöì”îû ›•Ä „þöì’Å xî!ßþi“þÐ ›•Ä „þöì’Åîû
!“þ˜!Ýþ öŠéyöìÝþy £yöìvþüîû ›öì•Ä ö›!œëûy¢ £œ ¢îöì‰þöìëû îy£zöìîûîû
~î‚ î,£_› ç ~!Ýþîû ÷”‡ÅÄ ²Ìyëû xyÝþ !›!œ!›Ýþyîû þ™ëÅhsþ £ëûÐ

14. (b) ¦þyîû“þ¢¦þy ²Ì!“þÛþy „þöìîû!Šéöìœ˜ ¢%öìîûw˜yí îÄy˜y‹Å#Ð ~!Ýþ
²Ì!“þÛþyîû öÇþöìe xy˜¨ ö›y£˜ î¢%ç “¤þyîû ¢yöìí ë%_« !Šéöìœ˜Ð
~£z ¢¦þyîû vþzöìjŸÄ=!œ !Šéœéôô ‹˜†öì’îû îûy‹÷ì̃ !“þ„þ– öîï!kþ„þ
~î‚ îlßþ†“þ x@ùÌ†!“þîû ²Ì!“þ!Ýþöì„þ ÷î• vþzþ™yöìëû ²Ì‰þyîû „þîûyÐ

15. (b) ¢y˜îûy£z‹y¢Å £yëûoyîy” ¢Á±!“þ xy£z!þ™~œ £z!“þ£yöì¢ ¢îÅy!•„þ
îûy˜ „þöìîû öîû„þvÅþ †vþüœÐ

16. (a) ¢îû„þy!îû xyëû ç îÄëû ¢‚e«yhsþ ˜#!“þ
17. (d) 61 •yîûyëû
18. (c) Šé!_Ÿ†öìvþüîû þ™!îûöìîŸ îõ%þ xöìœy„þ Ö„Ïþy ö†yÓþ ›Äy˜

~˜¦þyëûîû̃ öì›rÝþ ²Ìy£z‹ééôé2024 þ™%îûßþñyöìîû ¦)þ!¡ì“þ £öìœ˜Ð
19. (a) ö›ï!œ„þ x!•„þyîû îœîê „þîûyîû ‹˜Ä ¢%!²Ì› ö„þyÝÅþ öœ… ‹y!îû

„þîûöì“þ þ™yöìîûÐ
20. (c) „,þ¡Œöì”î îûyëû

›!¨îû!Ýþ þ™Mþé”Ÿ Ÿ“þy·#öì“þ „,þ¡Œöì”î îûyöìëûîû îûy‹c„þyöìœ
!˜!›Å“þ £öìëû!ŠéœÐ !“þ!˜ !î‹ëû ˜†îû ¢yÁËy‹Äéôé~îû x˜Ä“þ›
Ÿy¢„þ !Šéöìœ˜Ð ›!¨îû!Ýþ !¦þÝþÆyöìœyöì„þ vþzê¢†Å#„,þ“þ ~î‚ ~!Ýþöì„þ
!î‹ëûy !¦þÝþÆyœ ›!¨îûç îœy £ëûÐ !îÝþàþœßþºy›#öì„þ ¦þ†îy˜
!î¡%Œîû xî“þyîûç îœy £ëûÐ

21. (a) xõÉþ²Ìöì”Ÿ îûyöì‹Ä „%þ!‰þþ™%!vþü ˜,öì“þÄîû vþzêþ™!_Ð
22. (a) †y›y îû!ÙÂ

†y›y !î!„þîûöì’îû ²Ì“þ#„þ = yÐ ~!Ýþ ~„þ ²Ì„þyîû vþzF‰þ „þÁ™yöìBþîû
…%î öŠéyÝþ “þîûD ÷”‡ÅÄ “þ!vþüêéôé‰%þÁº„þ#ëû !î!„þîû’Ð £z£y !î!¦þ§¬
¢yî xÄyÝþ!›„þ „þ’yîû !›í!ßþ;þëûy– öë›˜ £zöìœ„þÝþÆ̃ éôéþ™!‹ÝþÆ̃
xîœ%® ²Ì!e«ëûy– þ™y£zîû̃  xîÇþëû– !šþvþzŸ˜ !î!e«ëûy £z“þÄy!”îû
›y•Äöì› ÷“þ!îû £ëûÐ
†y›y îû!ÙÂîû „þÁ™yBþ ¢y•yîû’“þ 1019H2éôé~îû çþ™öìîû– “þy£z
~îû Ÿ!_« 100 !„þöìœy £zöìœ„þÝþÆ̃  ö¦þyöìÎÝþîû çþ™öìîû ~î‚ “þîûD
÷”‡ÅÄ 10 !þ™öì„þy!›Ýþyîû ö‰þöìëû öŠéyÝþÐ ëy ²ÌyëûŸ x’%îû xyëû“þöì̃ îû
“%þœ˜yëû xöì̃ „þ öŠéyÝþÐ

23. (b) xy@ùÌy ”%†Å
xy@ùÌyîû œyœöì„þÍÔy ¦þyîû“þ#ëû vþzþ™›£yöì”öìŸ ö›y‡œ îûy‹î‚öìŸîû
îûy‹„þ#ëû ²Ìy¢y” ~î‚ ö›y‡œ ßþiyþ™öì“þÄîû ~„þ x˜î”Ä !˜”ŸÅ̃ Ð
ö„þÍÔy!Ýþ 1982 ¢yöìœ çëûyÓÅþ ö£!îûöìÝþ‹ ¢y£zÝþ !£öì¢öìî …Äy!“þ
œy¦þ „þöìîûÐ

24. (a) ¦þyîû“þ ç !îÊ!ÝþŸ ë%_«îûy‹Ä ë%kþ‹y£yöì‹ ÷î”%Ä!“þ„þ ²Ìþ™yœŸ˜
!¢öìÞÝþ› ÷“þ!îûîû vþzöìjöìŸÄ ‰%þ!_« „þîûœÐ

25. (d) ”%!Ýþ £yÍñy !˜vþz!„Ïþëûy¢ ë%_« £öìëû ~„þ!Ýþ îvþü !˜vþz!„Ïþëûy¢ †àþöì̃ îû
þ™kþ!“þöì„þ !îöìëûy‹˜ îöìœÐ

26. (a) !¢!„þ› ¦þyîûöì“þîû vþz_îûéôéþ™)îÅyMþéöìœîû ~„þ!Ýþ îûy‹Ä ~î‚
vþzöìÍÔ…öìëy†Ä þ™ëÅÝþ˜ ö„þwÐ !¢!„þöì›îû îûy‹•y˜# Ÿ£îû †Äy‚Ýþ„þÐ
xyëû“þöì̃  ¦þyîûöì“þîû !m“þ#ëû Ç%þo“þ› ²Ìöì”ŸÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 2  ‹%̃ – 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

27. (c) ¢y‚îy!”„þ“þy– ¢y!£“þÄ ~î‚ ¢D#“þ îû‰þ˜yëû „,þ!“þöìcîû ‹˜Ä ~£z
þ™%îûßþñyîû ²Ì”y˜ „þîûy £ëûÐ

28. (a) x!¦þßþËî’öì„þ ”%!Ýþ ¦þyöì† ¦þy† „þîûy ëyëûÐ xhsþ x!¦þßþËî’ ç
î!£ƒ x!¦þßþËî’Ð
x!¦þßþËî’ ”%öìÝþy !¦þ§¬ ‡˜öìcîû oî’ ~„þ!Ýþ x•Åöì¦þ”Ä þ™”Åy !”öìëû
þ™yŸyþ™y!Ÿ xyœy”y „þöìîû îûy…öìœ þ™”Åy ö¦þ” „þöìîû „þ› ‡˜ oî’
öíöì„þ x!•„þ ‡˜ oîöì’îû !”öì„þ oyîöì„þ x’% ²ÌöìîŸ „þîûyîû
²Ì!e«ëûyöì„þ öîyGþyëûÐ ”%öìÝþy oîöì’îû ‡˜c ¢›y˜ ˜y £çëûy
þ™ëÅhsþ ~£z ²Ì!e«ëûy ‰þœöì“þ íyöì„þÐ

29. (b) The Securities and Exchange Board of India
(SEBI) £œ ¦þyîû“þ ¢îû„þyöìîûîû ›y!œ„þy˜y•#˜ ¦þyîûöì“þîû
!¢!„þvþz!îû!Ýþ ç þ™’Ä îy‹yöìîûîû !˜ëûy›„þÐ ~!Ýþ 1988 ¢yöìœîû
12 ~!²Ìœ ²Ì!“þ!Ûþ“þ £öìëû!ŠéœÐ

30. (d) îÄyBþ xšþ £z!uþëûy îÄ!_«†“þ ”%‡ÅÝþ̃ y !î›y– ßþºyßþiÄ !î›yîû vþzöìjöìŸÄ
˜yîû# Ÿ!_« ö¢!¦þ‚¢ xÄy„þyvþzrÝþ ‰þyœ% „þîûœÐ

31. (c) !šÊþ!‹‚ ›Äy!:çîû œî˜ ~î‚ îîûöìšþîû !›×’Ð
32. (b) 109°28'

£z!í!œöì̃ îû H-C-H îuþ ö„þy’!Ýþ Ca £œ 117° ~î‚ H-C-
H ö„þy’!Ýþ Ca £œ 121.5 ”%!Ýþ „þyîû’ îûöìëûöìŠé ëy £z!í!œöì̃ îû
~£z ö„þï!’„þ !î„,þ!“þ!Ýþ îÄy…Äy „þîûöì“þ ~„þ!e“þ £ëûÐ

33. (c) î:y£zÝþ vþzêþ™y”öì̃  ¦þyîûöì“þîû ²Ìí› ßþiy˜y!•„þyîû# îûy‹Ä!Ýþ £œ
ç!vþŸyÐ

34. (b) xy!íÅ„þ ßþºy•#˜“þyîû ‹˜Ä †yõþ#!‹ ‹y“þ#ëû“þyîy”– ¢y›Ä“þy ~î‚
ßþº!˜¦Åþîû“þyîû ²Ì“þ#„þ !£öì¢öìî …y!”öì„þ vþzþ™ßþiy!þ™“þ „þöìîû!Šéöìœ˜Ð
“þyîû !îÙ»y¢ !Šéœ öë ¢›yöì‹îû þ™%̃ †Åàþ˜ ~î‚ !îöì”!Ÿ Ÿy¢öì̃ îû
!îîû&öìkþ „þyëÅ„þîû ¢“þÄy@ùÌ£ ö„þîœ …y!”îû ›y•Äöì›£z ¢½þîÐ
‰þîû„þy ~„þ ¢›ëû !Šéœ ¦þyîû“þ#ëû xyöì̈ yœöì̃ îû ²Ì“þ#„þÐ

35. (b) !e«þ™¢ !›Ÿ˜
36. (b) ¢öìîûy!‹˜# ˜y£zv%þ !Šéöìœ˜ ßþº̃ y›•˜Ä ¦þyîû“þ#ëû ßþºy•#˜“þy ¢‚@ùÌy›#

!î!ŸÜT îy@Â# ç £zöì̈ yéôéxÄy‚öìœy „þ!îÐ !“þ!˜ ¦þyîû“þ#ëû ö„þy!„þœ
S”Ä ˜y£z!ÝþöìDœ xšþ £z!uþëûyV ˜yöì› þ™!îû!‰þ“þÐ
!“þ!˜ ¦þyîû“þ#ëû ‹y“þ#ëû „þ‚öì@ùÌöì¢îû ²Ìí› S¦þyîû“þ#ëûV ›!£œy
¢¦þþ™!“þ !˜îÅy!‰þ“þ £˜Ð ßþºy•#˜ ¦þyîûöì“þ vþz_îû²Ìöì”Ÿ îûyöì‹Äîû
îûy‹Äþ™yœç £öìëû!Šéöìœ˜Ð

37. (a) ë…˜ ö£þ™y!îû̃  x!:öì‹öì̃ îû ¢‚ßþ™öìŸÅ ~öì¢ ~!Ýþ šþy£z!îỄ
“þyîû=!œöì“þ þ™!œ›yîûy£zvþ „þöìîû– šþy£z!îỄ  “þyîû=!œîû ~„þ!Ýþ
hß(þþ™ „þöìîû– ëyöì“þ !î!¦þ§¬ îû_«öì„þy¡ì=!œ •îûy þ™öìvþü– šþöìœ
Çþ“þ!Ýþ xyÝþöì„þ ö”ëûÐ

38. (b) ö„þï!ÝþœÄ xíÅŸyßþf îû‰þ˜y „þöìîû̃ Ð ö„þï!ÝþöìœÄîû xþ™îû ˜y› ‰þy˜„þÄ
îy !î¡%Œ=®Ð
“¤þyîû öœ…y x˜Ä ~„þ!Ýþ î£z ‰þy˜„þÄ ˜#!“þÐ
ö„þï!ÝþœÄ ‰þw=® ö›ïöìëÅîû ›sþf# !Šéöìœ˜Ð “þyîû£z ¢£yëû“þyëû
‰þ¨=® •˜˜¨öì„þ þ™îûyhßþ „þöìîû 322 !…ÊÞÝþþ™)îÅyöì· ö›ïëÅ
¢yÁËyöì‹Äîû ²Ì!“þÛþy „þöìîû̃ Ð

39. (a) îû_«îûöì¢îû ²Ì„,þ!“þ £œéôô xy!ÁÔ„þÐ
îû_«îû¢– îûöì_«îû ~„þ!Ýþ vþzþ™y”y˜Ð
›y˜îöì”öì£îû 55 ¦þy†£z £œ îû_«îû¢Ð
ö„þy¡ìþ™”Åyîû îy£zöìîûîû îû_«†£ö́ìîûîû ›•Ä„þyîû “þîûœ þ™”yíÅÐ
îû_«îûöì¡ìîû ‡˜c ²Ìyëû 1025 ö„þ!‹/!›Ýþyîû3 îy 1.025 @ùÌy›/
!›!œ!›ÝþyîûÐ
îû_«!¢îûy› £œéôô ö„Ïþy!Ýþ‚ vþzþ™y”y˜ îÄ“þ#“þ ~„þ •îûöì̃ îû îû_«
îû¢Ð

40. (c) 120 !”˜
öœy!£“þ îû_«„þ!’„þy îûöì_«îû ¢îÅ²Ì•y˜ ö„þy¡ì îy „þ!’„þy ëy
ö›îû&”[þ# ²Ìy’#îû ö”öì£îû „þœy=!œöì“þ x!:öì‹˜ ¢îûîîûyöì£îû
²Ì•y˜ ›y•Ä› !£¢yöìî „þy‹ „þöìîûÐ

41. (c) 72 = 49  4×9 = 36
~„þ£z¦þyöìî 92 = 81  8 × 1 = 8

42. (d) îy!„þ=!œ îy£zöìîû îy ›yöìàþ ö…œy £ëûÐ

43. (a) 2 5 3 – books are old –– (i)
5 4 6 – man is old         –– (ii)
3 7 8 – buy good books       –– (iii)  
(i) & (iii)  books – 3       are – 2
(i) & (ii)  old – 5

44. (c)

~„þ£z¦þyöìî  

45. (c) a b cd | a bd c | abc d | a b dc

46. (a) G J M P S
4 9 20 43 90
T R P N L

   
   
   

+3 +3 +3 +3

×2+1 ×2+2 ×2+3 ×2+4
–2 –2 –2 –2

47. (b) 25 + 4 + 57 = 86
9 + 71 + 6 = 86
52 + 11  + 23 = 86

48. (d)      
     

!î„þÒ (a)
24  8 – 4 + 2 × 3 = 16
îû&þ™yhsþîû „þöìîû þ™y£z
24 – 8  4 × 2 + 3 = 16
or, 24 – 2 × 2 + 3 = 16
or, 24 – 4 + 3 = 16
or, 27 – 4 = 16
or, 23  16
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xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢ÅxÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

!î„þÒ (b)
24 – 8 + 4 × 2  3 = 12
îû&þ™yhsþîû „þöìîû þ™y£z
24  8 × 4 + 2 – 3 = 12
or, 3 × 4 + 2 – 3 = 12
or, 12 + 2 – 3 = 12
or, 11   12
!î„þÒ (c)
24 × 8 – 4  2 + 3 = 17
îû&þ™yhsþîû „þöìîû þ™y£z
24 + 8  4 – 2 × 3 = 17
or, 24 + 2 – 6 = 17
or, 26 – 6 = 17
or, 20  17
!î„þÒ (d)
24 + 8 – 4 × 2  3 = 47
îû&þ™yhsþîû „þöìîû þ™y£z
or, 24 × 8  4 + 2 – 3 = 47
or, 24 × 2 + 2 – 3 = 47
or, 48 + 2 – 3 = 47
or, 50 – 3 = 47
or, 47 = 47

49. (b) 343  3 × 4 × 3 = 36
36  3 × 6 = 18
18  1 × 8 = 8

50. (b)

51. (a) ›y

52. (b)

53. (a)

îûy‹#î îy›!”„þ öíöì„þ 19 ˜‚ ~î‚ vþy˜!”„þ öíöì„þ (8 – 5
– 1) = 2 ˜‚ ßþiyöì̃  xyöìŠéÐ
  ¢y!îûöì“þ ¢îÅ!˜Á¬ îyœ„þ xyöìŠé
= (19 + 2) –1 = 20 ‹˜

54. (d)     

55. (a) 8/12/2002 ¢yœ öíöì„þ 8/12/2007 ¢yœ þ™ëÅhsþ
Odd day 6!Ýþ
 Ÿ!˜îyîû – 6 îû!îîyîûÐ

56. (c) 3 5 1
3 6 2
4

57. (b) „þ!î“þy ç ˜yÝþ„þ ¢y!£öì“þÄîû xhsþ†Å“þÐ ¢%“þîûy‚

58. (c) 13
59. (b) 2

60. (b)
£y“%þ!vþü

þ™yíîûšþœ

61. (c) BA 
F 

E 
D C 

!e¦%þ‹=!œ £œéôôôé AFB, FEB, EBC, DEC, DFE,
AFD, AEB, FBC, DFC, ADE, DBE, ABD, ADC,
ABC, DBC = 15 !ÝþÐ

62. (a) îûy› > öîûy!£“þ
öîûy!£“þ > ŸÄy›– ¢%̈ îû
¢%̈ îû >ŸÄy›
îûy› > öîûy!£“þ > ¢%̈ îû > ŸÄy›

63. (c)

64. (c) (i), (v), (iii), (ii), (iv)
65. (b) !e«öì„þÝþ
66. (d) –F

+C A+ B – 

D+ E – 

67. (b) 20m

10m
5m

5m
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

68. (a) !„þŠ%é ¦þyîû“þ#ëû £œ þ™!uþ“þ– xyîyîû !„þŠ%é þ™!uþ“þ £œ ¦þyîû“þ#ëû
~î‚ ¢›hßþ ¦þyîû“þ#ëû ~î‚þ¢›hßþ þ™!uþ“þ £œ ›y˜%¡ìÐ

›y %̃¡ì
þ™!uþ“þ ¦þyîû“þ#ëû

69. (d)

70. (b)

~„þ£z¦þyöìî 

71. (a)  •!îû– “,þ“þ#ëû ¢‚…Äy!Ýþ 100þ
þ²Ìí› ç !m“þ#ëû ¢‚…Äy ëíye«öì› 130 ~î‚ 140
 þ²Ìí› ¢‚…Äy!Ýþ !m“þ#ëû ¢‚…Äy!Ýþîû

130 6100 % 92 %
140 7
     

72. (a) 6 !œÝþyîû !›×öì’ !‰þ!˜îû þ™!îû›y’ = (6 × 4%) !œÝþyîû
                           = 0.24 !œÝþyîû
1 !œÝþyîû ‹œ “%þöìœ ö˜çëûyîû þ™îû !›×öì’îû þ™!îû›y’
= (6 –1) !œÝþyîû = 5 !œÝþyîû
 þ™öìvþü íy„þy !›×öì’ !‰þ!˜îû Ÿ“þ„þîûy þ™!îû›y’

0.24 100%5   24 %5

73. (b) (15 – 2) = (24 – 11) = (32 – 19) = 13
2  15, 24, 32

2  15, 12, 16
2  15, 6, 8

3  15, 3, 4
5, 1, 4

 œ¢y= = 2 × 2 × 2 × 3 × 5 × 4 = 480
!˜öì’Åëû ¢‚…Äy = 480k – 13 = (465 + 15)k – 13

[k = •˜yd„þ x…[þ ¢‚…Äy]
= 465k + (15k – 13)
= (31 × 15)k + (15k – 13)
465k, 31 myîûy !î¦þy‹ÄÐ
!˜öì’Åëû ¢‚…Äy!Ýþ 31 myîûy !î¦þy‹Ä £öìœ– (15k – 13)
¢‚…Äy!Ýþ 31 myîûy !î¦þy‹Ä £öìîÐ
k = 5 £öìœ– 15k – 13 = 62 öë!Ýþ 31 myîûy !î¦þy‹ÄÐ

 Ç%þo“þ› ¢‚…Äy!Ýþ £œ = 480k – 13
= (480 × 5) – 13 = 2387

74. (b) îëûöì¢îû þ™!îûî“Åþ˜ £öì“þy ˜y ë!” ˜“%þ˜ öœy„þ!Ýþîû îëû¢ 40
îŠéîû £öì“þyÐ

öî!Ÿ xyöìŠé 120 4
5

    îŠéîû
 ˜“%þ˜ öœy„þ!Ýþîû îëû¢ = 40 + 4 = 44 îŠééîû

75. (b) ²Ìí› !›×öì’ ‹œ 
5
8  x‚Ÿ– !m“þ#ëû !›×öì’ ‹œ 

5
16

 x‚Ÿ

~î‚ ˜“%þ˜ !›×öì’ ‹œ 
1
2  x‚ŸÐ

5
8

5
16

!m“þ#ëû !›×’²Ìí› !›×’

˜“%þ˜ !›×’

1 5 3
2 16 16

   
 

5 1 1
8 2 8

   
 

1
2

 ²Ìí› !›×’ ç !m“þ#ëû !›×öì’îû !˜öì’Åëû x˜%þ™y“þ
3 1: 3 : 2

16 8
 

76. (d) î“Åþ›y˜ îëû¢ 4x ç 5x
 5x – 4x = 5 x = 5
 î“Åþ›y˜ îëû¢ 4 × 5 îŠéîû– 5 × 5 îŠéîû
xíÅyê 20 îŠéîû– 25 îŠéîû
3 îŠéîû þ™îû “þyöì”îû îëûöì¢îû ¢›!ÜT
= 20 + 3 + 25 + 3 = 51 îŠéîû

77. (a) •!îû– ë”%îû ›)œ•˜ = x Ýþy„þy–
¢%“þîûy‚– ŸÄyöì›îû ›)œ•˜ = (400 + x) Ýþy„þy
~î‚ îûyöì›îû ›)œ•˜ = (200 + 400 + x)

= (600 + x) Ýþy„þy
~…˜– x + (400 + x) + (600 + x) = 7000
3x = 7000 – 1000 = 6000
 x = 2000
 îûy›– ŸÄy› ç ë”%îû “%þœÄ ›)œ•öì̃ îû x˜%þ™y“þ
= 2600 : 2400 : 2000 = 13 : 12 : 10

îûy› þ™yöìî = 
133500
35

  = 1300 Ýþy„þy

78. (c) A = 13.31 ö„þy!Ýþ– P = 10 ö„þy!ÝþÐ

²ÌÙÀy˜%¢yöìîû– 
nrA = P 1

100
  
 

îy– 
3r13.31 = 10 1

100
  
 
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xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

îy– 
31331 r = 1

1000 100
  
 

îy– 
3 311 r = 1

10 100
      
   

îy– 
11 r = 1
10 100



îy– 
r 11 1 = 1 = 

100 10 10


îy– r = 10%

79. (d) m = 20, n = 30
20 30 600t 12
20 30 50


   


 !›!˜Ýþ

80. (a) ²Ìí› ç !m“þ#ëû îÄ!_«îû †!“þöìîöì†îû x˜%þ™y“þ
9 : 4 = 3 : 2

²Ìí› îÄ!_«îû †!“þöìî† 15 !„þ!›/‡^ùÝþy £öìœ

!m“þ#ëû îÄ!_«îû †!“þöìî†  215 3 !„þ!›/‡^ùÝþy
= 10 !„þ!›/‡^ùÝþy

81. (c) “þyöìîûîû ÷”‡ÅÄ =  d = 
22 42
7
  =132 ö¢!›

 a = 
132

4
 = 33 ö¢!›Ð

82. (d) ‰þy„þy!Ýþîû þ™!îû!•  44 1000
4000

  !›Ýþyîû = 111!›Ýþyîû

 2 ×  × r = 11

 r 11 7
2 22



= 1.75 !›Ýþyîû

83. (d) x!šþöì¢îû ö›yÝþ „þ›Å‰þyîû# = 100
ö›öìëûîû ¢‚…Äy = 40, þ™%îû&öì¡ìîû ¢‚…Äy = 100 – 40 =
60
ö›öìëûîûy ö¦þyÝþ ö”ëû = 40 × 40% = 16 ‹˜
þ™%îû&öì¡ìîûy ö¦þyÝþ ö”ëû = 60 × 60% = 36 ‹˜
 ç£z îÄ!_« ö›yÝþ ö¦þyÝþ þ™yëû = (16+36) % = 52%

84. (b) •!îû– e«ëû›)œÄ = x Ýþy„þy
²ÌÙÀy˜%¢yöìîû ­
(900 – x) = 2(x – 450)
 900 – x = 2x – 900
 3x = 1800  x = 600
 25% œy¦þ „þîûöì“þ £öìœ !îe«ëû›)œÄ £öìî

 125600 750
100

    Ýþy„þy

85. (b) œ¢y=  †¢y= 
œ¢y=  †¢y=

+ = 592
= 518–  

œ¢y= 592 518 1110 555
2 2
  

†¢y= 592 518 74 37
2 2
  

•!îû ¢‚…Äy ”%!Ýþ 37a ç 37b
37ab = 555

555ab 15
37

 

 15 =  1 × 15 (×)
 15 =  3  × 5 ()

     
 ¢‚…Äy ”%!Ýþ = (111, 185)
¢‚…Äy ”%!Ýþîû xhsþîû = 185 – 111 = 74

86. (d)
1 1
m n
  = 

m n
mn


 = 
72

6 210
 =

2
35

87. (b) A : B
3 : 1  S„þyöì‹îû x˜%þ™y“þV
1 : 3  S¢›öìëûîû x˜%þ™y“þV
1 ~„þ„þ = 9 !›!˜Ýþ
“þy£öìœ– 3 ~„þ„þ = (9 × 3) = 27 !›!˜Ýþ
 B ˜œ „þy‹!Ýþ „þîûöì“þ 27 !›!˜Ýþ ¢›ëû ö˜öìî

88. (d) ²Ì!“þ !›!˜öìÝþ þ‹œ ²ÌöìîŸ „þöìîû ö‰þïîyF‰þy!Ýþîû 1
20  x‚Ÿ

²Ì!“þ !›!˜öìÝþ ²ÌöîŸ £çëûy ‹öìœîû 1
6  x‚Ÿ ‹œ öî!îûöìëû

ö†öìœ– ²Ì!“þ !›!˜öìÝþ ö‰þïîyF‰þyëû ‹œ ‹›y £ëû

 1 11
20 6

   1 5 1
20 6 24

   x‚Ÿ

 ö‰þïîyF‰þy!Ýþ þ™)’Å £öì“þ ¢›ëû œy†öìî 24 !›!˜Ýþ
89. (b) •!îû– î“Åþ›yöì̃  îûyýöìœîû îëû¢ x îŠéîû

²ÌÙÀy˜%¢yöìîû (x + 15) = 5(x – 5)  x = 10
90. (c) (A + B)  ˜œ 2 !›!˜öìÝ þ™ )’Å  „ þö ìî û ö‰þïîyF‰þyî û

 1 1 1
12 15 60

   x‚Ÿ

öŸ¡ì 1 !›!˜öìÝþ A ˜œ þ™)’Å „þöìîû ö‰þïîyF‰þyîû 1
12  x‚Ÿ

îy!„þ  1 111
12 12

   x‚Ÿ ‹œ A ç B ˜œ ~„þöìe þ™)’Å

„þöìîû  112 60 110
12

     !›!˜öìÝþ

 ö›yÝþ ¢›ëû (110 + 1) = 111 !›!˜Ýþþ
91. (b) 4, 5, 6, 12, 15, 18 ç 36éôé~îû œ¢y= = 2 × 2 ×

3 × 3 × 5 = 180
 !˜öì’Åëû þ™)’Åî†Å ¢‚…Äy = 180 × 5 = 900

92. (a)
1 1 1

13 3 3
1 1 1 9
3 3 3

 


 ~îû

1 11 1 13 3
1 1 19 993 9 3


   

 

1 1 0
9 9

  
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xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

93. (a) 32 + 62 + 92 + .... + 302

= 32 (12 + 22 + 32 + .... + 102)
= 9 × 385 = 3465

94. (d) A, B, Céôé~îû ›)œ•öì̃ îû x˜%þ™y“þ

=
1 1 1: :
2 3 4  = 6 : 4 : 3

•!îû– A, B, C-~îû ›)œ•˜ ëíye«öì› 6x, 4x, 3x
A, B, C-~îû œyöì¦þîû x˜%þ™y“þ
= [(6x × 2) + (3x × 10)] : [4x × 12] : [3x × 12]
= 42x : 48x : 36x = 7 : 8 : 6

Bôé~îû œ¦þÄy‚Ÿ =
8378

7 8 6


 

= 
8378
21

 = 144 Ýþy„þy

95. (b) ²Ìyí!›„þ¦þyöìî !“þ!˜ 4000 Ýþy„þy öŸy• „þöìîû̃ Ð
îy!„þ Ýþy„þyîû þ™!îû›y’ = (16000 – 4000) Ýþy„þy
= 12000 Ýþy„þy

15 ›yöì¢îû ¢%” 12000 12 15 1800
100 12

  


15 ›yöì¢îû ¢%”y¢œ = (12000 + 1800) = 13,800
Ýþy„þy
 ö›yÝþ Ýþy„þyîû þ™!îû›y’ = (4000 + 13800)

    = 17,800 Ýþy„þy
96. (b) þA2

 = 1331 Ýþy„þy– þA1
 = 1210 Ýþy„þy

 ¢%öì”îû £yîû 2 1

1

A A
100 %

A
    

1331 1210 100 %
1210
    

121 100 % 10%
1210
     

 nrA P 1
100

 

 2101210 P 1
100

  

1211210 P P 1000
100

     Ýþy„þy

97. (c) ¢Á™)’Å öîöì†îû 2
5  x‚Ÿ öîöì† ‰þœöìœ ¢›ëû œyöì† 15 ‡rÝþy

 ¢Á™)’Å öî† !˜öìëû ‰þœöìœ ¢›ëû œy†öìî

 2 15 6
5

   ‡rÝþy

98. (a)  4 !„þ!›
A B

îy¢ îÄ!_«
!vþöìþ™y öíöì„þ 15 !›!˜Ýþ xhsþîû 16 !„þ!›/‡rÝþy öîöì† îy¢

Šéyvþüöìœ þ™îûþ™îû ”%!Ýþ îyöì¢îû ›öì•Ä ”)îûc  16 15 4
60

    !„þ!›

~…˜ ~„þ!Ýþ x@ùÌî“Åþ# îy¢ SB ßþiy˜V x!“þe«› „þîûyîû ›%£)öì“Åþ
þ™îûî“Åþ# îy¢ SA ßþiy˜V öíöì„þ öœy„þ!Ýþîû ”)îûc = 4 !„þ!›Ð
~…˜ îÄ!_« ç îy¢ ¢!Á¿!œ“þ¦þyöìî 4 !„þ!› þ™í x!“þe«›
„þîûyîû ›%£)öì“Åþ “þyöì”îû ¢yÇþyê £ëûÐ
“þyöì”îû xyöìþ™!Çþ„þ †!“þöìî†

 4 60
12

  = 20 !„þ!›/‡rÝþy

 îÄ!_«îû †!“þöìî† = (20 – 16) = 4 !„þ!›/‡rÝþy
99. (c) ö¢y˜y            “þy›y

19 9
    

             15
    

6 : 4
3 : 2

100. (b) •!îû– oîÄ!Ýþîû e«ëû›)œÄ 100 Ýþy„þyÐ
 !îe«ëû›)œÄ £öìî 85 Ýþy„þy
 e«ëû›)œÄ ç !îe«ëû›)öìœÄîû x˜%þ™y“þ
= 100 : 85 = 20 : 17


